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L1
i 1 eppmiderr tha feaflorwing statrinenls
(Al Casprry e of inelal son that is tightly b ctated
s ey prvitari ae cxslied et b e GO
i) A eExim el =mitalytic et Ry e with iLs
bsuarard prosthetas grovp s oalled e TR
Ha [t £ Fer edapdeet Gl
(1 (A s Lrue biut (B is falee
&y Hesth (AF nrd (1) are fulee

{26 (A s ol but (H) is brie

il Ttk (A ) and (H) are broe

[fasontation, us which cvales develog on U tnefs

s wall of the evary or 1o peripheral part, s
(M Axile
v d] Paristal
i Fres contral
i Haml
Whach of the following statements 1s not correat
i1}  The hydrolybic enzymes of lysosomes nre
netive wnidise acidic pH.
(i Ly sosemon are mombruns bound structures.
{4} Lysosimes nre formed by the process of
packaging in the endoplasmic reticulum.
{4 Lysosomes have numerous hydrolyviic

CIEVITICH.

Phloem in gymnoeperms lacks

{1} Sieve tubes only
{1  Comparion oells only

{3)  Baothmeve tubes and companion cells

()  Albuminous cells and seve cells

Which of the statements given below iz not true

ahout formation of Annual Rings in trees ?

() Differential activity of cambium eauses light
and dark hands of tissue - early and late
wood respeetively.

) Activity of cambium depends upon variation
mn climate.

@ Annual rings are not prominent in trees of

'ﬂl!mptraha Mg,

i1}

Annug) ring isa wmhing .
tion of spring wood
and nutumn wood produced in a year.

i
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g called ‘Hermo &8 r_rnlhu.md b

[rw
{1} movtyleten oo morphinE
£ ghvrrsy latam of morphin®
h pitpatzon of morphine
4 ety lataon of merphine
b el
rolvbiend. a fine powder of recycled modiiied
Sl Teks e A muterial for

i has proved to b 00

1} wss e 8 ferminner
st iR e o,
3 meking tubss and ppes

4 malking plastic secks

Which of the followmg paoirs of gnses 1§ mainly
responaible for green house effect 7
{1 Oixypen and Nitrogen

Nitrogen and Sulphur dioxsdes

Zj
(3 Carbon dioxide and Methane
4 Crzone and Aom mons

Which of the following statements 18 incorrect T

{1 Viruses are ohlignte parasites.

) Infective comstituent n viruses = the protein
ooEl

(#  Prions consist of shnormally folded proteins.

(4)  Viroide lack a protein coat.

Use of an artificial kidney during hemodialy=is
may result in :

@} Nitrogenous waste build-up in the body

(b} Neon-slimination of excess Potassum ons

() Heduuu_d abeorption of caleium ions from
gastro-intestinal tract

({d)  Reduced RBC production

Which of the following options is the
Appropriate 7

mogt

() (b)and (c) are correct
(Z) (c)and (d) are correct
(3)  (a) and (d) are correct
() (a)and (b} are correct
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34 Consider following fAtures Ly hmryn s .l“l.ﬂ'hl-l.“
(teop = Tl =* (Colin g
- Oigan system level of oegnnisaticn _» Chapophuangian s Ciipenet

: @ Pharynx .
ki Bilateral symmelry i ain =# Cpop = Ciglon =# s LU
-

i Cranophagus - 1lpam
5 Colon = Haataim

5 Crop =

rises cose Jom tes with Fq-.:m--l'n.m-'nnftunl_\' @  Pharyns
Crop s (alepnrd -

- Seloct the corpeot OpLion | fanimal grotps which

pos=ess all the above characteristics () Pharynx — L pophngus
L y s LT
(1) luu-u-ln’m..‘tr'.!m-Jhu!.-l and Molluscn Gigzard - Detm = { olen, ¥ e
i | wrihropodn Aol and Chordatn i, Which one of the following rq‘.l!-i!ﬂll"'l-'l-'ﬂ' .

gy Annelids Mallusen and Chordata essentinlly ""‘l-"“"'1 for growing microbes o0 1?1
large senle, for industrinl ilnrlhh.".inn af ey mies

) ynnehda, Arthn it A | ‘hordata
i Sludge digeater

| -
35, .';r-_[::r.nh':n ok ll.’-|':i,_"\'.|1u-_ of trpalmitim s i Ilillil"tf'lhlﬂlh‘l‘i
(i Hiorenctor

1) (1 i
() BOL incubintor
{2 005
0. Muteh the hominids with thiir porrect brain

&1

(3 (0

{4 {15 § i
() Homao habilis {1} M) o

; il Homo neandertholenms ey o
36 What would be the heart rats of n person if the ’ gl aamacte e RS

ik s E 1l ke Ve e (e} Homo ereciis (iny  GHO- B0 co
at the end of diastole 1s 100 mL and at the end of d) Homo sapiens Gv) 1400¢e

ventricular systole 18 50 mL 7 Select the eorrect oplion

| sel oplio

(1} 75 beats per minute (@) (b) (¢} ()

(2} 100 beats per minute L ) W v

" = 'ill 1 11+ ']
{d 125 beats per minute 3 > d e -

L) i) my (1)

(4} 50 beats per minute

(1) () 1) (w) (1)
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TR Which ol 1he il oo il abatemiiennls pieguri i
mitenchopedria = Tilat]
Yy e ol ectron P amibedded
i eralE T et midsen ne
ah (e mambrane 18 sonyalutad with

il inggs

M atochond rual
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matrix contains wingle
focule nmd rilsomscm .

Chater inoin brame §= erﬂ.u:nhh* o enome T
ol sl v b, fnin and protetns

=
]

Th ﬁﬂqwlw;ﬂn"nmm!ﬁmmm Do g piaire
oy the samie chrpmosimnes @ N IEEEELTE the
dimtmnon bebwenn goss Wl puplnined Ty
{1
=)
(i
(E L

dd

Gregor J. Mendel
Alfred Sturtavant
Hubton Bover
T . Morgan
What ia thee genetic disorder in which an individin!

hus an overall maseuline development,
jrynaecomastio, and in sterile T

(1 iKlinefohier's syndrome
(2 Felwprid syndrome

(i oy ' sy FomIE

() Turner s syndroma

4.

The sherter and longer arms of a submetnceniric
chrommsome are roferred toas

(n  pearm and g-arm respectively

(@ qarm i p-arm respectively

(3 m-arm anid n-arm respectively
() s-arm and J-arm respectively

Which oné of the following gtatements regarding
post: i o tion development in flowering plants

is incorrect ?
@ Central
@

nel[&unimlinmempﬂm
mmdevalnp'in!ﬂmﬂbﬁﬂm
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qu!uur;thrmlhwhnu secrebie ; ’l.h'l-'l.nm
nf:m:m—{nm-:m.ﬂ.l pract from i TTE apnEymos.
L1}y (johlot Celis

(D ey Celle

i Prucdpnal Colls

(] Chibed Cells

d
The citusted epithelinl colls are pequiee i
particles or mucus in n op dipeetion.
humana, these cells nre mainly pross

(ay  Fallopinn tubes and Pancreati®
@ Eustachinn tube sl Salivary duct
(i Bronchioles and Fnllopisn !

{ Bils doct and ['lﬂinnhﬂl?l

ga. V¥

The conoept of “Omnis reiiu.lu-rﬂ”“h'wrm
el divieiion was I Frﬂ‘l“"'"dw i

iy Theodore Sohwann

@  Schleiden

(0 Aristotle

{4y Rudoll Yirchow

D e eved by treatment With:

(1)  Chilled cthanol

2 Methanol atroom temperniure

@  Chlled ehloroform

i#) lsopropanol

Which of the following i& & commercinl blood
cholesteral lowering agent ?

(1y Statin

(7  Streptokinnse

{3 Lipascs

4  Cyclosporin A

E‘i_nu- peed cannot inate and lﬂlh'ﬁih
without fungal association. This is becanse ©

(1)  ithasobligate ﬁmmwiﬂ-.mm‘hm A

(%) it has very hard seed coat.

(3  ite seeds contain inhibitors that preven
germination. .

(4)  its embryo is immature.

Extrusion of second polar body from egg nucle
OCCUTS &

(1) after fertilization

(@)  before entry of sperm into ovim

@  simultaneously with first cleavage

(4) afterentry of mhﬁm&!ﬂu
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be oo changs in the reading fraine of following
mENA T : m A1l
5 AACAGCGOUGCUAUL ¥ o e 5
: IS @ GLUT
(n  Delntion of (% from 5% position GLuT i ; \ avt
i Imﬂilf“rlhmldﬁnl A g 510 posntiine d A, ‘-ﬁﬁ‘n‘. Jﬂ".
respectively B0, Select the  happer® ﬁﬂi 2 i
(i Delekion of GGU from 7t 8 and ik o iﬂ-ﬂ"h.l - of ?""‘, w
() InsertonofGat 5th position @ In 5'—“"‘! 5 w"'“ the BPF of #9°T 4 (helt
KB pnd ihe
5. Which of the following protocols did aim for , 1ou DAVE thar
g emision of chlorofluorocarbons snto the @ Buman TR much shorte®
abmosphere ? ::#r .
(n  Kyoto Protocol @ Male fruit ¥ uh-wml""" ; ﬂ‘:‘-
4 Gothenburg Protocol 2 A
{, : i:m n ;r: r,“1 g1, Maich Column -1 'l'“hﬂd, n ]
{3} Geneva 1'rotocn Eulunm-—‘ Gﬂﬂ-ﬂ‘“ s "
() Montreal Protocol () Saprophyte ® S'fmbﬂﬁ’_ '-r,h"up! l! OOk
T d&‘l
76 Colostrum, the yellowish fuid, mecreted by mother R @ DecomposiBion =L
. ; b) Poaras s “m‘k
during the initial duys of Inctation i Yery ensenitinl argamic ma
to impart immunity t the newborn inflnts becauss & e i wﬂmmWﬂ
i conbalmE v Lacher s
Monocytes " pssocintionof
o iy Mycorrhiza {xvh Symwotic 1
(@  Macophages algne and funl
)  Imm unoglobulin A Choose the correct ANSWEL from the oplons
p  Natural killer colls DA
o [l g i
: my () © @
77, Conversion of glucose o gl ucose-B-phosphate, the L i"“_'“ Lﬁ] W av)
first irreversible reaction of glycolysia, is entalyzed @ @ ® w )
by : {3 {1} (i) (i
(1) Hexokinnse Y] (1) G () v
2  Enolase g2 Which one of the following i not @ method
() thsphnfnlc‘lukumnc- in sily conservanon of biodiversity 7
@ Aldol (1) Wildlife Sanctuary
: Aldolnse
()  Botancal Garden
: . 7 Sacred Grove
78, Which of the following factors 18 responsible for \ 20 e
the formation of concentrated urine ? ()  Biosphere Reserve
(1) Maintaining h}'lmﬁ‘?"m“l_“m}' towardsinner | 83, Insome plants, the female gamete develt
medullary interstitium in the kidneys embryo without fortilization. This phen
@ Secretion of erythropoietin by 18 known as -
Juxtaglomerular com plex. (1) Parthenocarpy
; | , 7 Syngamy
(3) Hydrostatic pressure during glomerular \= yngamy
filtration. (3) Parthe NOECNEsis
4 Low levels of antidiuretic hormone. (4  Autogamy
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1ML

Q5 i T Ll
ot A beedy weighas 200 » on the purfmee o ”:I.‘:,’ur:-
Flow o ach wiill 3 we jrh half wad down o the s
af the enrth '
(1 ann N
¢ an0 N
(1] T
e 150 N

4 amall hole of area af cros-adolion ¢ mm= 18
prepsent near th hoteom of # fully filled open tank
of height 2m, Taking g 10 /=2, the rate of flow
of water through the open hole would be nearly

103,

i i

i1} 0= 10 mYE
] @ 3w 10 TR
{3 G.dx 10~ %ms
(4] 12.6x 10~ Y m%s

wlernted through o potential

An electron 18 ace
lts de Broglic wavelength

differenece of 10 oo v

i, (nearly) : (m, gx 10=* kg)
) 122x10°1=m
@ 122x10 4 m
(4 12.2 nm
Wy 122x10 'm

glit experiment when light of

'n a double
d the angular width

wavelength 400 nm was Use
of the first minimas i'n:'mut[unu:-u:ru-vn]Jlnw;i 1l m
away, was found to he 0.2°. What will be the
angular width of the first minima, if the entire

experimental apparatus 1s immersed in water !

=4/3)

LBy earr

i1y 015"
0.05°
0.1®

(1.266°

—L T t

1A | s 1 g Tl re
worpitled bee il T 32 4
a— o
A I e 1 e hinetlad - »
H e n il pressi
Jascroensa i mierm | alir {isLancE
' mcrn s 1 1=
"JT_ |_|1 LR o of o &w fmmet n mt Z_I _— : -lb &
T'he speed of nver W Aerts LD mfs A0 s Dlowing
|I.'.I mst 1§ [RT e simmil ing Ll‘.'||,. 3 --.|'.':1.;-,1,.;-|,; |_|||:
B the river alunk the shortest 1.'-":1 i
the angle AL W hich he &b vuld e his STTOKDE
w.r.L. north 18 g o T 4
(1} r
2 i woest
(x40 L'- '.-N.|-_-.|:
4} W wes!
108, Two point ~harges A and B, having charge:s
vre placed at cETLN

Q r:-n|,1w'1:n'r|-~

Tt anid
berween them

distnnce Npart wnt
F. If 2b% charge o
foree hetwoen the charges bocomes

1 foree neting
1. Aas v '!1":1—1:'.'1'!'|.-.1 T II.tl this

O
(1) 16
1GF

(2)
0
\F

()

109. In which of the following devices, the eddy o
effect 1s not used ?
(1)  magnetic braking in traan
(2 electromaognet
(3 electnic heater

1)  inducton furmace
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' When irh ORI ¥ apl ptAn ingle GO wilL
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i AL i can [piition 18 dirc o L ¥ Ll "
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vafoediys T pm BE = ’ il
will b X
I I 187. The I]1.l'|'|-f.'|.-'~'k'llt1.:!.]. s TN pcid pmong the follow g
@ 1N i {1 leucing
{ | ;3 (2) alamne
0 [ : /2 {(3) |ymime
. Whens lock of mass M s u'm-'ilrll*i*-‘li by o long {4) yuline
e Wird ..|- length | the length of thi wWire hecomaes
f‘.J 1 ';'h,..,.-j,|..;|_|. p..|.-|:r|.|i pnergy stored inthe [ 138, Which will ma ke basic buffer =
extended wire 18 ) 100 mLof 0.1 M CH,COOH + 100 mL of
o Mgl 0.1 M NaOH
L s (2) 100 mL of 0.1 M HC1+ 200 mL of
o e 0.1 M NH,OH
: (3) 100 mL of 0.1 M HCl+ 100 mLof01M
@ - MslL NaOH
) Mgl () 50 mL of 0.1 M NaOH +25 mL of 0.1 N
CH,COOH
134, The total energy of an electron in an atom in an
orbitis —3.4eV. Its kinetic and potential ene res : hioh ease change i : :
o sspoatively / rg 139. In which case change in entropy 18 negative ?
) —84eV, —6.8eV (1) Expansionofagasat constant temperati
9 1 & 1 o 14 (5 ) ) . g
@  §4eV, -68eV (2)  Sublimation of sold to gas
(3 S4eV,34e / e c
£el 3 2H(@E - Hy®)
4 -34eV, —3deV J i
(4)  Evaporation of water
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& Dencoil's Process iy :__“In“""“'
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“fhjﬂ]‘l“r"“-' follow ning i b, e rum e,
i o
) (h) (o) () Sakaption ?
@ g v W {1dd)
it v} (1)
rﬂ ( 11}
@ (iv) (i) (ai) (il
il {u) fany (i)
ﬁ,gﬂﬂﬂ"*m arder of the bnsic steeme
iﬂhﬂﬂ“tml AMINES 1 QUEOus M ],Il]: = 0lmy
= ] . b on i
. ) (CHg)sN >CHNH, = (CH ., NH

e W

fhe 0
required
Haber 8P

me-ﬂj atom 1

he aesconil o e o
ainr order of fieu 4, b g e

For
t# "#ﬂlqu:ll*’Jl.-,. Mol

FOCESE 18

B the correct electronie configuration of
" il_l i r
n I\.*Ill"l |t ?‘qlljli". "'f,‘ll-'|||'!|'l.'.'|l||.

field theory ?
il l::: “:
g 't
@ ¢ ti
1

f‘-:H‘ljJ'\; - l’{‘le‘.f‘-{l[ - (' ‘NH
EHJ:\’II._,-HE'H-,!'_.NII r (CH. )N
IﬂH}IENH:‘ll"l::—-‘"-”-- > (L1 |I'\'

; 3

mber of moles of hydrogen maol |
mpn}rluw_* 20 moles of ammonin t} g
. ! ifMuagn

146.

147.

= COOH
Z) -
= _-:..--“""J B H H 5
= NHy
& e
e
=" N1t
COOY

Which of the

CONH,

hydroxide ?

@ MglOHe

¢ BelOH)y

“H

expands f
external pre
gan 18 .
(Given that 1 Lbar = 100 4}

(1

(2)
()
(4)

Se(OH )y

LUinder igothermal

b kd
25
304
- 304

following 18 Bn

condition, 4
vom 0.1 L to 0.256 L. agay
asure of 2 bar. The we
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v at 308 k. The atnrumrul Gibbe
TIE L
wel! . 2o ] pnctioR uil
< i) off phe OFHE |
oars? ¢ = 06500 O T fal|
}-nndu spphal Al
v that
I'“ = . | Irjhllrul
ilw PTRiE] k) vl
L] v 16 o IO
Tt 4 'i’_’lc.frrn}l
will lend O gl

rpaiply ARG HIT of the solutions
e I ol charged palloidal [Aglll

farmation af g eIy

wal. 7

T
romL of 2 MKI

(i smLof 1M AgNOy+

m SomLofZM AgNO, +B50mlLof ] 5 MKl
5 S0mLef0IM AgNOy + 560 mL of 0.1 MEI
g B0 mlioof 1 M AgNOy + 50 mL of 1.5 M Kl

Among the following, the ooe that 1a oot &

180
green hoties gaa L8
(L} methane
& SR
] duulrll.i:‘d..ll.a.liljt'
(f) nitrous oxide

Which of the following réactions Aare

151 i
jonation renction 7

digpropart

fa) 3CaT= Cu? * + Cu®

. sMa0] + 4H' — 2MnO; +Mn0; +2H,0
2RMnO,A, KpMnOy + MnOy + Oy
o 2Mn0; +3Mn" +2H;0 5Mn0, +4H>

Select the correct option from the following :
(1 (&) (bl and (e}
@ (a),(c)and (d)
{a) and (d) only

() and (b) anly

(3

{41

152, A compound i formed by cation C and anion A
}_Hn_- anions form hexagonal close packed 1hci:-:l
V::um and the cations occupy 75% of octahedral

idfa, The formula of the compound 18 !

il ‘_1#’!‘;
2] '..IV-."
{x3) O i '
S

155,

154,

157.

168.

164

yof

arder o clion Le

st
gnstant f‘}’ ” ﬁr pompletion of 9
d ar the

i the rot e
ih; e ¢y regut :
the rel ni# give
[ L= E.Hﬂﬂr‘k |
I.Vfl g l.{..l}iifk

A j = :.!!,—'}IJEFI: ]
fi
(42 1#[!.5’93!.‘[

S ; i
ﬂﬂl‘ff_‘w ppectrim

Among the I'n!luﬁmg the |
auuhwtn 18 II
1y n@mP jetllin j-

2 nmnr,v,.:iliin I.;
chlora®P henicol l
(dh anicilhn (£} 1

-, pot stable ? |

Which of the following apecies 18 1 stable - 1
(2) [Sni{ H]I,F - .;
I-:.L IS]{"L_;;I.—P*

(41 [_.._'_'F‘i!::
Which of the following diatomic = o s
aolecular Orbital

has only = bonds according to
Theory ¥

(1) }"!.""
2 Ca
(31 Bey
{4) 0y

Conjugate base for Bronsted acids H.,0O and HF

are

(1) H40T and F~, respectively

2y OH- and F~, respectively

(3 HyO% and HyoF*, respectively
(49 OH~ and H,F*, respectively

I . .r,i [RI2Ts [i (¥4 ] remoy t ]

(1)  Clark's method

(2)  lon-exchange method

(3)  Synthetic resins method
(4)  Calgon's method
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= 4 and Bttrncg,, fs
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pum of ¥OR atom falle jn visible

4 is the correct therm ;) atnk

B e ility order for
, Se, Te and Po) 1

o H’T'{HEBE-: Hiﬂ" [—]2{}
HpTe <HyPo < H,0 <H,8
,H’o:HEBe"EHzTE'CHan

olumn - I with
- II and assign the

Column -1
pyramidal

incorrect statement relats
Identify the :
166. from the following :

i make an &
Two axial P — Clbonds
I with each other

P - Clbonds

' — Clbonds v
Three equatorial P—Cl
O A el






i (e of the fiolliiw gL i T Fro 1
™ i

npxq X F s} Br,
@ X I} inm more stghle than

EHF-I 18 10T A1 i e
PhF, 18 covalent oy Oy

@
Ll
Lis iy
a Thare 18 0o - bonding
The = bonding involves |
ol cxyEen with P-orbitnls

@ The - booding involves oy
of oxygen with d-orbitals of ll1l|: il d-prbitale
Y TLEF L T B

MR L fone ave

kel
Thip of porbitle
i mnngnnees

() The - bonding involves wetlnp oo

afoxygen with d-orbital orhitnls
s of manganse:

w-hjdxnnv tsaminlnchite from the follo
1 ollorwing

m Cu((H),

@ Feq(d,
{5} {?Il[‘t':,{hliﬂ:?”.‘_.

s

() CuFeS;

Thﬂ u:untnn- that f'-l'lT!I-i maximum b iling

“" #gtrup:' 18
(1 Ethannl + Watar

@ Acetone + Carbon disulphide
i Heptane + Octane
@) Water+ Nitric acad

sorrect structure of tribromooctnoxide 18
. The corr l.

i
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